3lp Z =9 N =22 adopted linkl |[ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 186.341 (-0.527) MeV

Qbeta- = 25.647 ( 0.590) MeV

Energy T J+ J- J-other T1/2

S-2n = -0.536 (-0.744)------ - -—-

31F 1 | | 0.000

S-p = 0.000 (=0.000) ========—m— o
S-n = 0.191 (-0.733)--- -—= -—= -—=

S-2p = 0.000 (-0.000)--—==-——=——————————————- -—-

S-2n = -0.536 (=0.744) ——————————m
S-alpha= 0.000 (-0.000)--- -—= -—= -—=

S+p = -27.131 (-0.735)

S+n = 0.000 (-0.000)

S+2p = -47.627 (-0.693)

S+2n = 0.000 (-0.000)

S+alpha = -21.438 (-0.849)
gap p 0.000 ( 0.000)
gap n = 0.000 ( 0.000)
gap 2p = 0.000 ( 0.000)
gap 2n = 0.000 ( 0.000)
gap alpha = 0.000 ( 0.000)


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=31F 
https://www.nndc.bnl.gov/ensdf/

